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SCHOOL : 
LEVEL 
SUBJECT: 
TERM 

SECTION A 

Q1 Q2 Q3 Q4 

3 2 3 1 

Q 11 Q12 Q13 Q14 

2 1 2 1 

Q 21 Q22 Q23 Q24 
·. 

1 4 2 3 

SECTION B 

Q29) a) Leaf/leaves

b) Stem

Q30) a) Pull/force

b) I Flexible 

Q31) To tick: 

- Sun

- Torchlight

Q32) a) Increases

b) Solid

Q33) a) greater than

b) Same as

Q5 Q6 

3 1 

Q15 Q16 

2 2 

Q25 Q26 

1 3 

I Magnetic 

tick .. 

Q7 

2 

Q17 

4 

Q27 

4 

QB Q9 Q10 

4 3 1 

01s····· 
019~ ·· 020

.. 
. . . .  

2 2 3 

Q28 

2 

I Strong I 

Pg 1 

https://freetestpaper.com/


Q34) a) Both can make food

I l'lonts I 

(i) P: Flowering Q: Non-flowering 
plants plants 

ro,,eptanl 
�IJy&dn!h mgh(,!nt,,,n 

00 PlantX ill) PlentY 

b) 

c) Plants provide food for many living things

Q35) a) Both lay eggs

b) Insect P has hard outer-covering but Amphibian Q has moist skin

c) (i) Q (ii) p (iii) R

Q36) (a) 

Variables Keep the Changed Measured 
Same 

Temperature 
✓ at which the 

baas are kent 

Size of bags ✓ 
Material of 

/ bags 

Presence of 
✓ mould 

b) Air, food, water and warmth

c) (i) Mushroom (ii) Can be eaten as food

Q37) a) Both break down food into simpler substances

b) (i) Digested food (ii) Water

c) 

Cha11ge in amount of 
· x

·.·'z ..
undigested food right before 
it leaves the organ 

No change ✓ 
Decrease 

✓ ✓ 
Increase 

Q38) a) Both the young of the animals do not look like the adult

Pg 2 



Q39) 

Q40) 

Q41) 

b) Animal B does not lay eggs in water while animal D lays eggs in

water.

c) (i) frog (ii) Mosquito

d) 

a) To find out if the number of coils of wire around the iron nail would

affect the strength of the electromagnet.

b) 10-23

c) Less steel clips will be attracted to the electromagnet

d) Stroking Method

a) Can K. It has a larger hole. More air can enter the can to take up

space

b) 

0 m 
Can with Can with Can with 

one hole two holes throe holes 

c) The number of holes made

d) To ensure that it is a fair test by keeping the size of the holes as

constant variables

a) (i) Put ice into cup A while cup B is placed into a basin of hot water

(ii) Cup A will contract as it loses heat to the ice while cup B will

expand as it gains heat from the hot water. 

b) 26/27 °C

c) Beaker R. R has the most amount of water at 100 °c. R contains the

most heat that is transferred to the egg
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